= A
N = 0] &F AF S & AN A
20158 &= 20l A LEHS H REHE S A
2A: EHS LD
Hu: DER SM2 M8 7S
Sl AZFOl OIHE MADIE RE (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
& e = At 227,501,818 221,081,112 6,420,706
= 176,303,801
Xl 1,689,650
J| 9,959,989
&< 39,548,378
NEE Sit=a MAD|eE 2= 227,414,818 220,994,112 6,420,706
= 176,303,801
Xl 1,689,650
J| 9,959,989
& 39,461,378
AlSFO| OFM A MALD|BE 2= 16,412,604 21,132,905 N4,720,301
= 9,130,000
Xl 450,000
= 6,832,604
TAHE2IXNSE AEXNSAMYE XA 860,000 860,000 0
= 800,000
= 60,000
308 XHXIEHMSOIA 860,000 860,000 0
= 800,000
= 60,000
01 AIXSHMENMNEX= 860,000 860,000 0
OxAH=2lANEa=2 A& 860,000
= 800,000
& 60,000
SIIH LA 3,900,000 1,950,000 1,950,000
= 3,000,000
& 900,000
403 XX SHHS K20 & 3,900,000 1,950,000 1,950,000
= 3,000,000
& 900,000
01 XIS A=Z2E X 3,900,000 1,950,000 1,950,000
OsJIH LUHAIS 3,900,000
= 3,000,000
o=t 900,000
sS8Eg & HIAM 4 421,600 421,600 0
= 340,000
o=} 81,600
403 XX S M S X201 & 421,600 421,600 0
= 340,000
= 81,600
01 AIXISHHMA2E X 421,600 421,600 0
sEgEY & FAANSHd(ERY) 105,400
= 85,000
= 20,400
Os4gyg A HANSH(AMEHYXH) 316,200
= 255,000
o=} 61,200
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A 2P s Lt
My DEI SM42 MW 2E
SHPl: AZrOl OIEE MADIE RS (S &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
201 L2l 5,000 10,000 25,000
= 5,000
01 At 2t 2l 5,000 10,000 A5,000
Oed=sg AEXN=H &EHI 5,000
= 5,000
202 odl 5,000 0 5,000
= 5,000
01 = LH o4 1l 5,000 0 5,000
Odsg AFX= I 5,000
= 5,000
308 XXIEtH S0 A 4,980,000 4,620,000 360,000
= 4,980,000
01 AXSHHBLEES 4,980,000 4,620,000 360,000
Osg AZX=2H dHHI 90,000
= 90,000
Oed=g AEXNS ALY 4,890,000
= 4,890,000
dEtd ¥30E RSAE A Y 531,000 1,164,660 A 633,660
Xl 450,000
< 81,000
403 XXM S X201 531,000 1,164,660 A 633,660
X 450,000
< 81,000
01 XXM A=2E = 531,000 1,164,660 A 633,660
Oz FJINSKSAME N 531,000
Xl 450,000
< 81,000
SMNSHEMFEALE SXNE 20,000 40,000 A 20,000
306 ¢ 2 20,000 40,000 A 20,000
01 &3 20,000 40,000 A 20,000
OSNEEMMTEAAE A2 20,000
NS SHEMN AHIFE J|Et 2= 146,656,082 131,793,702 14,862,380
= 135,671,000
| 571,682
< 10,413,400
HASE BHIAZINEAMY XA 135,121,682 120,179,320 14,942,362
= 134,550,000
| 571,682
201 L2l 10,000 10,000 0
| 10,000
01 At 22l 10,000 10,000 0
ORASS BTN ALY 2l 10,000
| 10,000
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AN HEZ st
Hu: DER SM2 M8 7S
Cel: DEX SUCH AYIET J|Y S EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
308 XXM SO0l A 58,500 58,500 0
2 45,000
< 13,500
01 IXNHHBNEES 58,500 58,500 0
OLNEZ HABHE Y 58,500
= 45,000
< 13,500
Ol=3&Xeld AENMEANYE XA 1,071,000 1,417,000 A 346,000
= 990,000
= 81,000
403 XSS X201 & 1,071,000 1,417,000 A 346,000
= 990,000
< 81,000
01 AXSHMA2E = 1,071,000 1,417,000 A 346,000
OSERPC A . ME AAXEA 477,000
= 450,000
< 27,000
OLERPC SE X 594,000
= 540,000
= 54,000
NN MM Y RS T 762,500 532,500 230,000
308 XXIEHHSOIA 240,000 90,000 150,000
01 AXHHBIYEES 240,000 90,000 150,000
Osdy BdEe sl 90,000
O EEA AEAY 150,000
403 MtXISHH S0l & 522,500 442,500 80,000
01 XM A2EE 522,500 442,500 80,000
Ol AXEB2AE &= 225,000
ORPC == A4 FHIXA 180,000
OS& RPC AIEEHIXR 90,000
oL AIZ2&EH 22 X3 27,500
sgH g2 & B = 230,000 240,000 A 10,000
201 £B-2%H| 150,000 150,000 0
01 At 22/l 150,000 150,000 0
Osgy EE2AMY 150,000
307 glz2+ol & 80,000 90,000 A 10,000
04 QIZFHALAIH E = 80,000 90,000 A 10,000
Osgy gxs2d 80,000
H THEisot 2EE A== 8,600,000 8,600,000 0
308 XX EHHSOIA 8,600,000 8,600,000 0
0O HXSHBAEES 8,600,000 8,600,000 0




2AN: dESE s
My DEI SM42 MW 2E
CSl: DEA SHCH AHSH Ol 2E CER-ED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OH MuisIt 28l MNEZ 8,600,000
o2|0|g2 s MAMA 25 726,400 660,000 66,400
308 XX SHHSO0IA 265,600 199,200 66,400
01 AIXHMBAEXZ 265,600 199,200 66,400
OFEHESE Mo XXM 233,600
OF3YE=CE OHAE 32,000
403 ItXISH XS K201 460,800 460,800 0
01 AIXISHMA2E X 460,800 460,800 0
O phZZME HIAHM 4 460,800
EtA =Dt XM 41,014,819 42,212,652 A 1,197,833
= 27,302,801
Xl 1,039,650
< 12,672,368
Ed=sy 2 2435 170,000 140,000 30,000
307 QI2t0| ™ 20,000 20,000 0
02 DI2HEMAIEE X 20,000 20,000 0
OrEEASHNE ESBHHIHA 20,000
308 AXISHXSO0IH 150,000 120,000 30,000
01 AXHNBMNEXTZ 150,000 120,000 30,000
Ostnrstdsyg & XA 120,000
Orsd=d MEHA X 30,000
Etdsgy oZet 2= 1,788,701 1,778,796 9,905
= 387,842
= 1,400,859
308 XX S M SO0l & 1,130,201 1,048,796 81,405
= 387,842
= 742,359
01 AXHNBMNEXZ 1,130,201 1,048,796 81,405
OxstEdsdE 21 SH| 165,150
OXS A3 =X 402,680
ORIN=sS XM XS 562,371
= 387,842
& 174,529
403 ItXIHAMS K201 A 658,500 730,000 AT71,500
01 XX SHMA2E X 658,500 730,000 AT71,500
ORIsMMAT] =4 300,000
OX&A H THHHEHA ALY 300,000
OrSHEAHN OHXMMA HollsS LM K& 58,500
Etd=sy o™ Y4 61,030 61,030 0
307 QI2t01 ™ 30,000 30,000 0
02 AI2tAAMAIE E =X 30,000 30,000 0




2N
X ZH -
L= B

el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Orgd=d & s 54 30,000
308 XtXIEHHSOIA 31,030 31,030 0
01 AXHHIBLEES 31,030 31,030 0
Oz ed=sUEEXN B2 11,030
OHBASY MAXZH R4 20,000
SEEEHE 2= 5,965,000 6,465,000 A 500,000
403 MtXISHHE X201 E 5,965,000 6,465,000 500,000
01 XM A2 5,965,000 6,465,000 A 500,000
O&&Eddz XN&A 5,965,000
JEdsgy JIgR= 1,514,475 2,205,000 A 690,525
Xl 1,039,650
< 474,825
403 A X EHHS =0l A 1,514,475 2,205,000 A 690,525
Xl 1,039,650
< 474,825
01 X HHMA=LE L 1,514,475 2,205,000 A 690,525
OZdzastzdsd=il =4 630,000
Xl 450,000
< 180,000
O egdsgi=+ =4 884,475
Xl 589,650
< 294,825
sy AFZANSHAY 3,246,000 3,200,000 46,000
= 3,246,000
308 XXIEHHSOIA 3,246,000 3,200,000 46,000
= 3,246,000
01 AXHHILEES 3,246,000 3,200,000 46,000
Oz edsgy AEAN=HAY 3,246,000
= 3,246,000
228 NEXN=SHAS 1,827,056 1,850,529 N 23,473
= 1,618,910
< 208,146
308 AHAIEHHSOIA 1,827,056 1,850,529 AN 23,473
= 1,618,910
< 208, 146
01 AXSHBLELS 1,827,056 1,850,529 N23,473
o322l HNFXSMALY 1,827,056
= 1,618,910
< 208, 146
=HI&=E MU XA 235,195 304,935 AB9,740
= 171,049
< 64,146
403 MtXISHH S A0l & 235,195 304,935 AB9,740




2N
X ZH -
L= B

el

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2

= 171,049
< 64,146

01 X SHHXN2E = 235,195 304,935 269,740
O=sHIX=SNUHAS A 235,195
2 171,049
S 64,146

EAHEH XN& 13,817,362 13,817,362 0
= 11,379,000
= 2,438,362

403 A X EHHSH20IA 13,817,362 13,817,362 0
= 11,379,000
= 2,438,362

01 X ESHHM U422 L 13,817,362 13,817,362 0
OELMSH (4 9,919,500
=2 8,169,000
< 1,750,500
OELMH(A3]) 3,897,862
= 3,210,000
< 687,862

SI1Ed=2 X 12,390,000 12,390,000 0
= 10,500,000
= 1,890,000

403 A X EHS =0l A 12,390,000 12,390,000 0
=2 10,500,000
= 1,890,000

01 X EHHMA=LE L 12,390,000 12,390,000 0
SI12dlg XA 12,390,000
= 10,500,000
< 1,890,000

HAUEE MAIIEH AL &= 21,815,063 24,656,603 A2,841,540
= 4,200,000
Xl 200,000
| 8,888,307
< 8,526,756

AMERWHUHXOIEESE3ALY 5,772,000 7,017,223 A 1,245,223
= 4,200,000
= 1,572,000

403 XA SA=0l& 5,772,000 7,017,223 A 1,245,223
=2 4,200,000
< 1,572,000

01 X SHHMA2E X 5,772,000 7,017,223 A 1,245,223
OAMEJU HUHXZBZAIE &X 4,176,000
= 2,880,000
< 1,296,000
OSHE LI XA 936,000
= 720,000
< 216,000

oo




2N

Hu: DER SM2 M8 7S
SHol: RAOISH MADIIB NS =S CER-ED
= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2

OXZEHLI| AIAE ZX 660,000
= 600,000
< 60,000

NS5 SHAERE 240,000 720,000 A 480,000
X 200,000
£ 40,000

403 TtXI S S A =01 A 240,000 720,000 480,000
X 200,000
£ 40,000

01 XA 2L E 240,000 720,000 A480,000
ONSEASETSTHAL 240,000
Al 200,000
= 40,000

FTADIZ DAMA RS KA 1,754,373 6,374,631 A 4,620,258
Il 1,275,907
= 478,466

403 X SHHSA=01H 1,754,373 6,374,631 A 4,620,258
Il 1,275,907
< 478,466

01 XM H=EE 1,754,373 6,374,631 AN4,620,258
OFTAD |2 WA dAAIE S THSANY 1,754,373
Jl 1,275,907
£ 478,466

FTAJIS AEBUX=SHE 2EXH 1,852,690 0 1,852,690
Jl 1,512,400
= 340,290

403 TtXI M SA=01A 1,852,690 0 1,852,690
Jl 1,512,400
= 340,290

01 HXSHH =L xE 1,852,690 0 1,852,690
OFTAJIZS HE LA =SHE HEXH 1,852,690
Il 1,512,400
S 340,290

ANE20SENL A 3,335,000 2,492,260 842,740
Jl 2,300,000
S 1,035,000

403 AR SHHMS K201 H 3,335,000 2,492,260 842,740
Jl 2,300,000
S 1,035,000

01 HXHH =2 E 3,335,000 2,492,260 842,740
OANE20 SEMNLSAL 3,190,000
Jl 2,200,000
= 990,000
OsAS ICT 858 HAAE 145,000
y 100,000
< 45,000




R

O rioe
Jn oy
o
0 x5
> Mo

0z

=z
e
Jor 4
O b

Ol

SH-EHH . B(SH) - NBAY - B Y o A o SSa H RS2
A DSZE MAANE EF 2,833,500 2,693,500 140,000
403 ItXIHAMSA201 A 2,833,500 2,693,500 140,000
01 "X SHMA2E X 2,833,500 2,693,500 140,000

OANEAN LHTHEHAIE AL 261,000
OAE20 SEMHA A 426,000
OMAR® E3HX LAY 225,000
OJMZE AXEH SXALS 150,000
O20WAIE AQGEXNSHAHAAE = 54,000
Obli= 2A0HAY 2 X & AS 75,000
O2ZZE 20 A7 MlsI FHeXES
Al AL 150,000
OJW&E2 NSE Mo ASEAS 1,492,500
g3 s Ux=Jdusot A& 709,500 649,500 60,000
403 ItXIHXMSA201 A 709,500 649,500 60,000
01 AIXISHMA2E X 709,500 649,500 60,000
Ol==&0 d2MHM&ELD &X 187,500
Ol==20 SN B2= 240,000
Ol==&0 sJH 32 210,000
O &AL =X =4 72,000
SESE MAE Y 2SAILRH 282,000 270,000 12,000
403 XtXISHHM S K201 282,000 270,000 12,000
01 AIXISHM A 22X 282,000 270,000 12,000
O3tsll = 228H =4 150,000
OLNEZ 33 MAAE A 132,000
SxA ZHSE 235 1,856,000 1,977,800 A 121,800
Dl 1,280,000
& 576,000
403 ItXISHHSA201 ™ 1,856,000 1,977,800 A 121,800
Dl 1,280,000
& 576,000
01 X SHMA2E X 1,856,000 1,977,800 A 121,800
OX0F HIJtE THHHAIA 1,856,000
Dl 1,280,000
& 576,000
ABUH LAY 615,000 515,500 99,500
Jl 300,000
T 315,000
403 X SHMS K201 A 615,000 515,500 99,500
Il 300,000
T 315,000
01 XX SHMAA2E X 615,000 515,500 99,500
OLE0 “FAE MWES ALY 180,000




AN dEFsetn

Hu: DEE SM2 M
A

= - — SHE|
CHE - EI(BA) - NRAY - BYS e Hl D= 2t
OHATHEHAIE S CHSALS 435,000
J| 300,000
< 135,000
SRAS I8 2= ,982,000 0 1,982,000
| ,820,000
< 162,000
403 XIS E X201 H ,982,000 0 1,982,000
| ,820,000
< 162,000
01 X SHHX2E= ,982,000 0 1,982,000
OHASZUH 2 HEH X 354,000
| 300,000
< 54,000
OMZ Xt A B = ALY 1,000,000
| 1,000,000
OLINJAZSAANEXA 439,200
| 360,000
= 79,200
O B==22Z2IF M 188,800
| 160,000
< 28,800
2l=s4aE M2SSHAHA 2SAY 520,000 585,000 A 65,000
| 400,000
< 120,000
403 XIS E X201 & 520,000 585,000 A 65,000
| 400,000
< 120,000
01 X SHHAN2E= 520,000 585,000 265,000
ORlistts N2RSHH 2FAY 520,000
| 400,000
< 120,000
SEXNE FYY LAY 63,000 362, 189 £299,189
403 Ut S S X201 & 63,000 362,189 A 299,189
01 X SHHMA=2LE L 63,000 362,189 A 299,189
OEEAE MAIYAY 63,000
olarate DIt =248 OAE = ,516,250 , 198,250 318,000
| 500,000
< ,016,250
Ol &t DIEt =S X & 791,250 792,250 A 1,000
201 L2l 40,000 40,000 0
01 At 22l 40,000 40,000 0
Ooladrgd s 10,000
Ozl E25F 30,000
207 A RO 100,000 100,000 0




2N
X ZH -
L= B

el

ok o

SR ]
EE SA2 MDY S
At JBIRE 22 OHY =X

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
01 A& 49Y| 100,000 100,000 0
O0172 AN HIMAMAZ JI2HE HAPREY 100,000
307 212t0| & 199,750 200,750 A 1,000
02 DIZtBAAMEE X 132,000 133,000 A 1,000
OFHolA SHAHAY 100,000
Os<ola ob2tdiol &9 32,000
05 A2t E 2 67,750 67,750 0
OFLolA HAAE A 52,750
Oosdgold oA e 15,000
403 IR SHHM S K201 451,500 451,500 0
01 AkXISHM A28 X 451,500 451,500 0
OQIATHHH A = S AFS 30,000
OXRSHEAMMATIIH ALY 210,000
OIS A AL XJAASH 180,000
OPola BIRSATHHHAIE XI& AHH 31,500
OIATMANAIE BTHEH( R WHGHAIE XIRIAHE) 725,000 406,000 319,000
Dl 500,000
[ 225,000
403 ItXIHAMS K201 A 725,000 406,000 319,000
Jl 500,000
= 225,000
01 XX SHMA2E X 725,000 406,000 319,000
OPQla MAAIEEHSE At 725,000
Dl 500,000
= 225,000
HH2IHY (& =) 87,000 87,000 0
Jl22& bl 87,000 87,000 0
o= | 87,000 87,000 0
201 et A | 41,400 41,400 0
01 AFR 2t 2l dl 41,400 41,400 0
Osdtd =& 41,400
202 04| 41,400 41,400 0
01 2ol 41,400 41,400 0
OsMYDSEX 41,400
203 & R =&H| 4,200 4,200 0
04 EANSHLRF=AH| 4,200 4,200 0
O&EE = At 4,200




